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Round 31,860 to the nearest 100.
What fraction of 72 is 12?
What is the value of 3 in 21934?

. What is the difference

between 12:36 and 3%?

. Find the area of this shape.

< 3cm >
S5cm

A
2cm
\J

- 7cm —»

What is the HCF of 8, 12 and 32?

! %kg +659=__

. Write & + 1 as a decimal fractio

10 7 100
50% of 1,250 =

n.

A programme began at (23:30 J.
It finished at [ 22:45 |.

How long was it on for?

hrs __ mins

How many axes of symmetry
has a hexagon?

x +20 = 19 + 19. What is x?

21 x =84

How many degrees in a parallelogram? =~

If 450 students attended and they all
booked online, how much did they pay

in total?

How much did the adults pay altogether

if they all booked online?

. What was the difference between

what the adults paid in total and
what the students paid?
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1 zkg - 509 = ‘
2. Write 300 ares as hectares,

3. 02 of 390 =

—_—

—_

4. Round 84 674
to the nearest 100

ey

5. What fraction of 120 is 80?

6. What is the value of 7
in 26,7437

——e

7. What is the difference
between 1:52m and 1 1m?

8. 110+ =1

9. 3x + 22 = 43
What is x?

10. This pie chart shows the colours
of 144 balloons in a box.
How many balloons are blue?

11. 20% of 120 =

12. The average of 3 numbers is 15,
what is their sum?

13. Write % as a mixed number.

14. Two angles in a triangle
are 80° and 35° What is
the value of the 3rd angle?

:?15 The diameter of a circle is 23-2cm.
What is its radius?

b flagpoles were spaced evenly along

road. Find the distance between

ch flagpole if the distance from the
t to the sixth pole is Tkm 800m.

17. A match began at 11.15am.
nded 2 hours later.
At what time did it finish?

\ driver was quoted €565 for car
surance. How much did she pay if she
ot a 20% discount?
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. What fraction of 54 is 187

—_

- What is the value of 3 ip, 375,000?

- What is the difference
between 3-14 and 317
oL

- 108 = 12. -+ q

. Name the shape.

e L R B

- A bus left Athlone at 11am and

arrived in Dublin at 1.35pm.
How long was the journey? !f
hrs mins

. 9x—4 ‘56+34Whatisx?__

. The average temperature for 3 days
was 15°. If the temperatures for 2 of the
days were 14° and 12° what was the
temperature on the third day?

. How many degrees in a rectangle?

|r The average weekly wage in a factory is
| and €20,700 is paid out in wages per week. L

16. How many people work
in the factory?

heir
' |If each worker pays 25% tax on t
3 weeeklg wage, how much money on average

do they bring home every week?

18. If the wage bill increases by 10%,
" how much will be paid out

?
each week?

see page 90 for test.
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1. 100g cost 50c.
How much for 1%kg?

A B
i 2. Write 100 + 1000
| as a decimal fraction,
\ e
3.3=
|
“ s ol =7
5. Round 7,493
| to the nearest 1,000,

What fraction of 64 is 4?

—_—

. What is the value of 2 in 134217

<y

Write 8 hectares as ares,

2 ®» N o

. Name this part of the circle.

10. (6 x 4) = ( -30)

11. How many axes of
symmetry has a
rhombus?

12. A plane departed Dublin at D-l"ls
and arrived in Athens at []2:]5 | (Dublin
time). How long was the flight?

hrs mins

| 13. 4x+9 = 32 + 5. What is x?
14. 0-867 x 1,000 =

15. How many degrees in
a square?

16. A group of students are going on a trip
to France. The cost per student is €550.
If the teacher collected €6,050,
how many students are going
onthe trip?

17. A train travelled 1,000km at an average
speed of 125km per hour. How long did
the journey take? hrs

18.1f Worked from 10am to 6pm for 4 days,

how much would | earn at €10 an hour?

Eava
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10 —_— : 13. Double 4-15.
2. Write -11 4 .
TFooo 95 a decimal fraction, ¢ 14. 200g + 100g + 509 + x = Tkg
~ What is x?
3. N . :
Shc;l)me the type of triangle i 15. A flight departs Dublin ot - g
wn. ST arrives in Paris at -(lrv,h time)
2 How long is the flight?
4. (6x7)— A = 34 hr(s) mins
5. :
}2{ dozen eggs cost €3:60. i 16. What is the average
ow much for 6 eggs? of 2:5, 325 and 6:25?
6. Round 3,719 to the nearest 100. ~17. Which line is parallel to line (@? ___
7. What fraction of 36 is 3? (a)
: : (b)
8. What is the value of 4 in 374,001? : ©
: ¢ N c
9. What is the difference )

between 1976 and 112
18. How many degrees
in 2 right angles? S

19. Round 217692
to 3 decimal places.

10. What is the value of the
unknown angle?

11. 53 = : 17
1 ——— i 20. 80% + 5% = 70.
2 Sc(hztézs—;?%f +9q. True or false?
-
( Problems

21. If Sabrina earns €10 a hour, how much will she earn
in 37% hours?

22. The children in a family eat % of a box of cereal every week.
How many boxes do they eat in 6 weeks?

23. €3,750 remains when a sum of money is reduced by %
What is the sum of money?

24. 0-4 of the spectators at a match were children.
If 200 children attended, how many spectators were at

the match in total?

25. How much interest is paid on a loan of €4,000
for two years at 10%?





